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12.

Lighthouse 1.1 (Checkpoint 4)

Complete this addition grid + 1 81 51| 6
0
Calculate 11 + 6
7/
Work out 12 -7 3
Work out
a ?+4=10 14 cm
b) ?+3=20
3cm
c) 13 + ? = 15
What is the value of 4 in 24? 14.¢m
Work out the perimeter of the rectangle.
How many sides does a rhombus have?
Work out a) 18 +7 b) 27 +8
Work out a) 11-7 b) 22-5
Which is bigger a) 6or9 b) 89 or 91
Write odd or even for each number
a 6 b) 7 cd 23
Write the next number in each sequence
a0,12. b 7,911, .. c) 16, 13, 10 ,....

3cm




